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U A o o T R |
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Q.No. | Marks | Q.No. | Marks | Q.No. | Marks | Q. No. | Marks
1 13 25 37
2 14 26 38
. 15 27 39
4 16 28 40
5 17 29
6 18 30
7 19 31
8 20 X ¥
9 21 33
10 22 34
1 23 35
12 24 36 Total
GRAND TOTAL .......ccoccmmmirnnssniesenscsnrmssnesssrsersssanssanssnses
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391 (0 @o 1 @ 3) : 3w 77 y¥1 & 37 ¥z #1 GAT 71 377 Al & GHE @ AT T |
Direction (Q. Nos. 1 to 3) : Choose the word which is not similar to the rest group
of the three.

(A) waEd (B) R (C) & (D) =&
(A) Butter (B) Cheese (C) Mik (D) Curd
(A) T (B) = (C) ==l (D) <
(A) Cow (B) Buffalo (C) Goat (D) Fox

(A) =w@ (B) e (C) = (D) - =R
(A) Duck (B) Crow (C) Eagle (D) Pigeon

Find the missing number :

5616
41415
717 (8
(A) 51 (B) 81 (C) 102 (D) 113
& 1r$ el 7 fopen i € 7
l
(A) 20 (B) 28 (C) 30 (D) 34

g g o foes o (7) o1 o 3 o A g e et @ e e 3 ¢

Choose the right number from the given choices to fill the gap (?) in the given figure :

(A) 169 (B) 170 (C) 182 (D) 196
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1.

T Safth TES e 25 To FHHIA @ 3R 3 R 15 o we WA 2 | R g i fam
25 To FHaTAT £ M A 27 15 o @ F a1 R | T WHR T8 3 oft Fwar R | v Rt
7 ygelt o Uk T1Y & 105 o B ?

Aman earns Rs. 25 first day and spends Rs. 15 next day. Again he eamns Rs. 25 third
day and spends Rs. 15 fourth day. He is repeating the same ahead. In how many
days he will have Rs. 105 first time ?

(A) 20 (B) 21 (C) 24 (D) 17

-l IR ATH T i * ek T (7) = gt ?

Which of the following answer figure will fill the gap (?) in the question figure ?

™It
1|
N ? W

w |t @[N] ol ot

#19 Ry freredt @ 39 w58 ) Y ST CONSULTATIONS 3152 o 278t & & o wehatl -

Choose the correct word from the following options which cannot be formed with the
help of the letters of the word CONSULTATIONS :

(A) CONSTANT (B) STATION (C) SOLUTION (D) NATIONAL

Frefafiga s@en # e @em e §, 98 TTe S 919
Find the wrong number in the following number series :
104, 117, 130, 145, 156, 169

(A) 117 (B) 145 (C) 156 (D) 169

I FORCE w1 %1€ 47823 3R TIGER &1 %I 96538 &, Al FIRE 1 %S =1 g 7
If the code for FORCE is 47823 and code for TIGER is 96538, then what will be the

code for FIRE ?

(A) 4683 (B) 2653 (C) 8962 (D) 4623
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12.

13.

14.

15.

afe CORD &1 &g DOSE 3R GOLD &1 %1€ HOME &, @ SONS %1 &I @1 g1m ?
If the code for CORD is DOSE and code for GOLD is HOME, then what will be the
code for SONS ? -

(A) TONT (B) TOPT (C) TOOT (D) TOOS

FrefaRaa smft it 3 % fore =gam gen 1 fraht dheft Yaneit it smavgssar anf ?

How may straight lines are required at least to make the following figures ?

(A) 6 (B) 7 (C) 8 D)y 9

= o3 T e s1eRt we Wt o TN SR el R | et SaSE g ;

The foliowing series follows the order of digits and alphabets. Choose the wrong

combination :

() AX1235YQ5 () AX1235YQ5 () AX1253YQ5 (IV) AX1235YQ5

A | B) I ) I D) N

Tt @ @ #9-8 Q@ v whem g E 7
Which two of the following addresses are exactly similar ?
()  ABB Flexible Automation GmbH
Gruner Weg 6 D-61169 Friedburg GERMANY
() ABB Flexible Automation GmbH
Gruner Weg 6 D-611169 Friedberg GERMANY
(I  ABB Flexible Automation GmbH
Gruner Weg 6 D-611169 Friedberg GERMANY
(V) ABB Flexible Automation GmbH
Gruner Weg 6 D-61169 Friedberg GERMANY
(A) 1=l (B) 13RIV (C) W3R (D) N3k
(A) landll (B) landlV (C) illandlll (D) llandIV
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16. o sho o wper i zel = hl o1 WEw 550 TE A § | AR 80 oW Fre Gea &, 122

T Fichae 3R 22 B AN U Qe & At wand 5 fRe e A o) fre wem € SR @
et ¢ k

The full capacity of K. B. C. School is 550 students. If 80 students play Cricket, 122
students play Volleyball and 22 students play both games then how many students
neither play the Cricket nor the Volleyball ?

(A) 385 (B) 370 (C) 375 (D) 380

17. i fou o HaHl % MR WA, D @ fhw atg @ g R ?

in which way Aiis related to D on the basis of given relations ?

() A BwIWERI A is the brother of B.

(i) C,A=fia? | C is the father of A.

(i) D,EFWEE | D is the brother of E.

(v) E,BRIAR E is the daughter of B.

(A) W (B) =& (C) = (D) ¥ @ wd e
(A) Brother (B) Sister (C) Uncle (D) None of them

18, T war A dva w3 2w R A s fe wE @R E | R, T F i e T WS

18.

D Fad deed wr e 1wREd D MR FHafrA TR E?

There are 37 children facing the South in a queue. ‘R’ is the 8thrright to ‘T' who is 14th
leftto ‘D’. How many children are there between ‘D' and ‘R’ ?
(A) 4 B) 5 (C) 8 O 7

N, Bw TR, B, CHuEta D, ARWRAD, CARmm AT ?
‘Alis the father of ‘B’, ‘B’ is the brother of ‘C’ and ‘D’ is the mother of ‘A, then how is
‘D' related to ‘C' ?

(A = (B) /= (C) == (D) 3&

(A) Mother (B) Grand Mother (C) Sister (D) Daughter
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20. ‘P, ‘Q, 'R, ‘S' 3R T &} 3ren-am avrgdi €, ‘R, T A am g, wg P aser |
'S, QAT g T ABRTR | 30 & B wad T d ?
P','Q, 'R, 'S'and ‘T’ have different heights. ‘R’ is taller than ‘T’ but smaller than ‘P’,
‘S'is taller than ‘Q’ but smaller than ‘T". Who is the tallest person ?

(A) S | T (C) P O R

R (o o 21 & 25) : 3 57 3 ST % U Goear- 7 &t @ | 5 ST v
T 81 771 )% & 7 (A), (B), (C) e (D) -3} 1 AR | 31 S ) g 7 e 3vaeh
19T et G- STTgHHa) 3 T 77T 3 587 TR e el & 1o worear- S 7 e G g i e € 1
el IR G Feq Je7 & 371 R me iy (7)) 7 aww ford |

Direction (Q. Nos. 21 to 25) : There is a problem-figure on the left-hand side, a part of
which is missing. Observe the answer-figures (A), (B), (C) and (D) on the right-hand side
and find out the answer-figure which without changing the direction, fits in the missing part of
the problem-figure in order to complete the pattemn in the problem-figure. Select the correct

answer and write the answer in the box ([]) next to each question.

wH- S - TR
Problem-figure Answer-figure

. NS PSS
(A) B8 . (€ = (D)

? NS A) ®  (© ()
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RTINS

13497 (o Ho 26 § 30) : FF F¥ 7 T 3TN TF G- SATFA 71 T SR TR IRt

(A), (B), (C) T (D)3} T8 & 1 30R- 37T 1 GIAT 1 TSI 1 71 A1FT ¥ Feper aged
&1 57 90T F XY W TG T §) | G IR GAH 8 I % 377 F2n e iy ([ ) F 3w G

Direction (Q. Nos. 26 to 30) : There is a problem-figure on the left-hand side and four

answer-figures marked (A), (B), (C) and (D) are given on the right-hand side. Select the

answer-figure which is exactly the mirror of the problem-figure when the mirror is held at

XY and write the answer in the box ([] ) next to each question.

AT ATH I~ ATHA
Problem-figure Answer-figure
X
2. Tég % \a; a& all
Y
(A) (B) (C) (D)
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T TR IW-ATH

Problem-figure Answer-figure
X
Y

(A) (B) (©) (D)

X
-] [BARE
(A) (B) (C) (D)
|
- [t e[ 8] 6]
2% NESEE N
' . (A) (8) {0 (D)

RS (o To 31 V35 ; Y% Fe7 # SR Fadl (A), (B), (C) @1 (D)3 7 € | 57 9 377t
7 @ a7 STF I F 52 % TG 8 a1 T ST 8 | ST AT F1 GAH & FY B 37 7Y 1Y
Fieg ([]) @ s @ |
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Direction (Q. Nos. 31 to 35) : Four figures (A), (B), (C) and (D) have been given in each
question of these four figures, three figures are similar in some way and one figure is
different. Select the figure which is different and write the answer in the box ((]) next to
each question.

N
V4

(A) 8)

sz.cj Q

(A) (8) (D)

N

(A) (B)

€)
(C)
(C)
| @ D] O] |9
(c
(C)

(D)

(A) (B) ) (D)

B E®

(A) (B)
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REr (o Ho 36 B40) : Je9% %7 7 a1l o7% U GHe- 3717 &1 7t 8 7o gl /e 9R I
g (A), (B), (C) & (D)3 7 & | 3 3w-373hha &1 g fored gt ford g% /
Rfga 8 3k agl 3o g7 3T & 37T 3T e @ ([ ) @ 3R ford |

Direction (Q. Nos. 36 to 40) : A problem-figure is given on the left-hand side and four
answer-figures (A), (B), (C) and (D) are given on the right-hand side. Select the answer-
figure in which the problem-figure is hidden /embedded and write the answer in the box

( 21 ) next to each question.

- JTH IR-ATHA
Problem-figure Answer-figure
AN X @
36. -
(\ ! =AY
(A) (8) (€ (D)
| lallEg I &
__.________J e (e { f A
A (®) © (0)
- [ 2| AR
(A) (B) (C) (D)
/N
W [,ﬂ:j % @ -\ %
(A) (B) (C) (D)
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Problem-figure

Fw-3rg

Answer-figure

. [37

xp

D
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